PROPOSAL

CITY OF SANIBEL, FLORIDA

PERIWINKLE WAY MILLING AND RESURFACING

DUE JUNE 26, 2025 @ 2:30 PM

TO: CITY OF SANIBEL Public Works Department 800 Dunlop Road Sanibel, Florida 33957

Pursuant to the advertisement for bids, the undersigned having read the Specifications and examined the Drawings prepared by Stantec and the City of Sanibel for the <u>PERIWINKLE WAY</u> <u>MILLING AND RESURFACING</u> in the City of Sanibel, Florida, and having inspected the site of work and conditions affecting and governing same, hereby proposes to provide all materials, and all equipment, tools, etc., and to perform all labor necessary for the installation as specified and described in said Specifications.

The Total Bid Price for the work based on the summation of the extensions of the unit prices on the attached itemized proposal is:

	ltem	Quantity	Total Price			
	Periwinkle Way Milling and Resurfacing - Base Bid	1	\$ 816,090.87			
	Periwinkle Way Drainage Improvements – Additive Alternate Bid	1	\$ 555,858.92			
	TOTAL BASE BID PLUS ADDITIVE ALTERNATE BID IN WORDS One Million Three Hundred Seventy-One Thousand Nine Hundred					
	Forty- Nine and 79/100 Dollars		\$ 1,371,949.79			
	(In words)		(In figures)			
	Southern Striping Solutions, LLC					
/	NAME OF SUBMITTING CONTRACTOR					
2	1)					

TIME OF COMPLETION

The undersigned further agrees to complete the furnishings and construction of such work, ready for continuous and satisfactory operation in all respects, within:

Periwinkle Way Milling and Resurfacing (Base Bid) work within **NINETY (90)** calendar days of the Notice to Proceed.

Periwinkle Way Drainage Improvements (Additive Alternate Bid) work within **ONE HUNDRED AND TWENTY (120)** calendar days of the Notice to Proceed.

TIME OF VALIDITY

It is hereby agreed that this proposal shall remain in full force and effect and may not be withdrawn for a period of sixty (60) days from the date of receiving proposals by the City of Sanibel.

BID SECURITY

The undersigned encloses herewith a certified check or cashier's check payable to the City of Sanibel, Florida or a bidder's bond bonding the undersigned and surety to the City of Sanibel, Florida in an amount not less than five percent (5%) of the total bid price as set out above, guaranteeing that the undersigned will enter into contract for the performance of the work if this proposal is accepted.

CONTINGENCY ALLOWANCE

Contractor agrees that a contingency allowance, if any, is for the sole use of Owner to cover unanticipated costs. Owner's Contingency are funds to be used at the discretion of the Owner to cover any increases in Project costs that result from Owner directed changes or unforeseen site conditions associated with construction. Markups for Construction Fees will be applied by the Contractor at the time contingency is used.

ADDENDA

Receipt of Addenda Nos. N/A is hereby acknowledged.

REQUIRED BID ITEMS

No.	Name	Page Reference	
1	Bid Package in sealed envelope marked with Title of Bid, Bid Number, Name & Address of Bidder	Cover page Invitation to Bid	
2	Complete Proposal on form provided	Pages A-1 and P-1 through P-6	
3	Complete Unit Price Proposal	Pages P-1 through P-6	
4	Complete Similar Project Experience	Pages SPE-1 through SPE-6	
5	Include Certified Check or Bid Bond 5% or more of total bid price	Pages A-1 and IB-3	
6	Acknowledge issued addenda on page 2 of Proposal Form	Pages IB-2, P-2, GC-1	
7	Letter or statement from Bidder's surety company it will execute and deliver a 100% Performance and Payment Bond	Page IB-3	
8	Furnish evidence they have ability & experience, have sufficient capital and plant, and minimum 3-years of experience	Page IB-4	

UNIT PRICE PROPOSAL - PERIWINKLE WAY MILLING AND RESURFACING - BASE BID

ITEM NO.	DESCRIPTION	EST. QUANT.	UNIT		EXTENDED PRICE
ROADWAY	1				
0101 1	Mobilization	1	LS	\$33,164.22	\$33,164.22
0102 1	Maintenance of Traffic	1	LS	\$59,448.38	\$59,448.38
0104 10 3	Sediment Barrier	11,872	LF	\$2.34	\$27,780.48
0104 18	Inlet Protection System	31	EA	\$225.00	\$6,975.00
0110 4 10	Removal of Existing Concrete, Curbing	22.2	SY	\$144.14	\$3,199.91
0210 1 1	Reworking Limerock Base, 6" (NIGHT WORK)	2,108	SY	\$11.55	\$24,347.40
0327 70 6	Milling Existing Asphalt Pavement, 1.5" Avg Depth (NIGHT WORK)	21,075	SY	\$3.71	\$78,188.25
0334 1 53	Superpave Asphaltic Conc., Traffic C, (1.5") (Milling area) (110 lbs/sy/1") (NIGHT WORK)	1,764.6	TN	\$174.82	\$308,487.37
0334 1 53	Leveling Course, 2", SP Surface Course (110 lbs/sy) (NIGHT WORK)	176.5	TN	\$181.80	\$32,087.70
0400 0 13	Misc Concrete	5	CY	\$374.47	\$1,872.35
0425 4	Adjust Inlets	8	EA	\$1,123.84	\$8,990.72
0425 5	Adjust Manhole	3	EA	\$1,041.04	\$3,123.12
0425 5 1	Adjust Manhole, Utilities	10	EA	\$849.42	\$8,494.20
0425 6	Adjust Valve Boxes	4	EA	\$469.36	\$1,877.44
0520 1 10	Concrete Curb & Gutter, Type F	20	LF	\$86.49	\$1,729.80
0520 3	Concrete Curb & Gutter, Valley Gutter	80	LF	\$44.01	\$3,520.80
0522 2	Concrete Sidewalk and Driveways, 6" Thick	5	SY	\$479.38	\$2,396.90
0527 2	Detectable Warnings	242	SF	\$30.00	\$7,260.00
0570 1 3	Performance Turf , Shoulder Treatment (Sod)	2,445	SY	\$4.79	\$11,711.55

P-4

UNIT PRICE PROPOSAL – PERIWINKLE WAY MILLING AND RESURFACING - BASE BID (CONTINUED)

ITEM NO.	DESCRIPTION	EST. QUANT.	UNIT	UNIT PRICE	EXTENDED PRICE
SIGNING AN	D PAVEMENT MARKING				
0706 1 3	Raised Pavement Markers, Type B	427	EA	\$5.75	\$2,455.25
0710 90	Painted Pavement Markings, Final Surface	1	LS	\$30,246.00	\$30,246.00
0711 11 123	Thermo., Std., White, Solid, 12" for Crosswalks and Pathway	1,265	LF	\$2.35	\$2,972.75
0711 11 124	Thermo., Std., White, Solid, 18" for Diagonal or Chevron	82	LF	\$5.00	\$410.00
0711 11 160	Thermo., Std., White, Message or Symbol	24	EA	\$135.00	\$3,240.00
0711 11 170	Thermo., Std., White, Arrows	20	EA	\$95.00	\$1,900.00
0711 11 180	Thermo., Std., White, Yield Line	36	LF	\$15.00	\$540.00
0711 11 224	Thermo., Std., Yellow, Solid, 18" for Diagonal or Chevron	213	LF	\$5.00	\$1,065.00
0711 11 241	Thermo., Std., Yellow, Skip 6" (2/4 and 6/10)	0.020	GM	\$7,589.00	\$151.78
0711 14 125	Thermo., Preformed, White, Solid 24", for Crosswalk and Stop Bar	743	LF	\$22.00	\$16,346.00
0711 16 101	Thermo., Std., Other Surfaces, White, Solid, 6"	2.412	GM.	\$6,521.00	\$15,728.65
0711 16 102	Thermo., Std., Other Surfaces, White, Solid 8"	0.024	GM	\$7,589.00	\$182.14
0711 16 141	Thermo., Std., White, Skip, 6" (3/9 and 10/30)	0.105	GM	\$7,589.00	\$796.85
0711 16 141	Thermo., Std., White, Skip, 6" (2/4 and 6/10)	0.035	GM	\$7,589.00	\$265.62
0711 16 201	Thermo., Std., Other Surfaces, Yellow, Solid 6"	2.321	GM	\$6,521.00	\$15,135.24
NA	Owner's Contingency	1	LS	\$100,000.00	\$100,000.00
	PERIWINKLE WAY MIL	LING AND	RESURF	ACING TOTAL:	\$816,090.87

UNIT PRICE PROPOSAL – PERIWINKLE WAY DRAINAGE IMPROVEMENTS – ADDITIVE ALTERNATE BID

ITEM NO.	DESCRIPTION	EST. QUANT.	UNIT		EXTENDED PRICE
DRAINAGE				1	
0101 1	Mobilization	1	LS	\$18,997.50	\$18,997.50
0102 1	Maintenance of Traffic	1	LS	\$29,721.20	\$29,721.20
0104 10 3	Sediment Barrier	1209	LF	\$2.34	\$2,829.06
0104 18	Inlet Protection System	6	EA	\$225.00	\$1,350.00
0110 1 1	Clearing & Grubbing	4278	SY	\$3.58	\$15,315.24
0110 4 10	Removal of Existing Concrete, Curbing	20	SY	\$151.19	\$3,023.80
0110 7 1	Mailbox, F&I Single (Relocate)	12	EA	\$401.00	\$4,812.00
0110 23	Tree Removal	13	EA	\$825.00	\$10,725.00
0120 5	Channel Excavation (Swale Grading)	480	CY	\$27.05	\$12,984.00
0120 72	Gravel Fill	22	CY	\$147.49	\$3,244.78
0339 1	Miscellaneous Asphalt Pavement	9	TN	\$575.94	\$5,183.46
0286 2	Turnout Construction - Asphalt/Driveway Base	9	TN	\$363.44	\$3,270.96
0400 0 13	Misc Concrete (Inlet Apron)	3	CY	\$459.70	\$1,379.10
0425 15 21	Inlets, DT Bot, Type C,<10'	9	EA	\$6,819.87	\$61,378.83
0430 174218	Pipe Culvert, Elliptical, 12"x18"	952	LF	\$182.21	\$173,463.92
0430 94 1	Desilting Pipe, 0-24"	294	LF	\$102.71	\$30,196.74
0430 982625	Mitered End Section, Elliptical, 12"x18"	21	EA	\$3,096.74	\$65,031.54
0520 1 10	Concrete Curb & Gutter, Type F	111	LF	\$50.55	\$5,611.05
0526 1101	Pavers, Architectural, Remove Existing and Reinstall	25	SY	\$189.50	\$4,737.50
0570 1 2	Performance Turf , (Sod)	3556	SY	\$4.79	\$17,033.24
1000	Water Service Adjustment	10	EA	\$3,557.00	\$35,570.00
NA	Owner's Contingency	1	LS	\$50,000.00	\$50,000.00
	PERIWINKLE WAY D		PROVEN	ENTS TOTAL:	\$555,858.92

Respectfully submitted,

 Southern Striping Solutions, LLC

 Contractor

 (Individual__) (Partnership__) or (Corporation_/)

 Signed

 Signed

 Name (print)

 Daniel Banks

 Title

 President

 Address

 16900 Gator Rd

 City/State

 Fort Myers, FL 33912

 Telephone

 239-591-5903

 Fax

 N/A

 Email

DATE:

06/26/2025

NOTE: The legal status of the bidder, whether as an individual, partnership or corporation, must be indicated above, and all pertinent information as required of the Specifications must be furnished.

(SEAL)

▲ A A Document A310[™] – 2010

Bid Bond

CONTRACTOR: (Name, legal status and address) Southern Striping Solutions, LLC

16900 Gator Road P.O BOX 14498 Fort Myers, FL 33912 OWNER: (Name, legal status and address) City of Sanibel, Florida 800 Dunlop Road Sanibel, FL 33957 BOND AMOUNT: Five Percent Of The Total Amount Bid (5%)

SURETY:

(Name, legal status and principal place of business) Merchants Bonding Company (Mutual)

Des Moines, IA 50306-3498

This document has important legal consequences. Consultation with an attorney is encouraged with respect to its completion or modification.

Any singular reference to Contractor, Surety, Owner or other party shall be considered plural where applicable.

(Seal)

(Seal)

PROJECT:

(Name, location or address, and Project number, if any) Periwinkle Way Milling & Resurfacing

The Contractor and Surety are bound to the Owner in the amount set forth above, for the payment of which the Contractor and Surety bind themselves, their heirs, executors, administrators, successors and assigns, jointly and severally, as provided herein. The conditions of this Bond are such that if the Owner accepts the bid of the Contractor within the time specified in the bid documents, or within such time period as may be agreed to by the Owner and Contractor, and the Contractor either (1) enters into a contract with the Owner in accordance with the terms of such bid, and gives such bond or bonds as may be specified in the bidding or Contract Documents, with a surety admitted in the jurisdiction of the Project and otherwise acceptable to the Owner, for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof; or (2) pays to the Owner the difference, not to exceed the amount of this Bond, between the amount specified in said bid and such larger amount for which the Owner may in good faith contract with another party to perform the work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect. The Surety hereby waives any notice of an agreement between the Owner and Contractor to extend the time in which the Owner may accept the bid. Waiver of notice by the Surety shall not apply to any extension exceeding sixty (60) days in the aggregate beyond the time for acceptance of bids specified in the bid documents, and the Owner and Contractor shall obtain the Surety's consent for an extension beyond sixty (60) days.

If this Bond is issued in connection with a subcontractor's bid to a Contractor, the term Contractor in this Bond shall be deemed to be Subcontractor and the term Owner shall be deemed to be Contractor.

When this Bond has been furnished to comply with a statutory or other legal requirement in the location of the Project, any provision in this Bond conflicting with said statutory or legal requirement shall be deemed deleted herefrom and provisions conforming to such statutory or other legal requirement shall be deemed incorporated herein. When so furnished, the intent is that this Bond shall be construed as a statutory bond and not as a common law bond.

Signed and sealed this

day of

26th

June

(Surety)

Southern Striping Solutions, LLC

(Contractor as Principal)

1	12	0	-	
F		64	2	
(With	ess)			-

(Title) William G. Griffin, Attorney In Fact

(Tille Daniel Banks, President Merchants Bonding Company (Mutual)

2025

CAUTION: You should sign an original AIA Contract Document, on which this text appears in RED. An original assures that changes will not be obscured.

AIA Document A310TM - 2010 (rev. 10/2010). Copyright © 1963, 1970 and 2010 by The American Institute of Architects. All rights reserved. WARNING: This AIA® Document is protected by U.S. Copyright Law and International Treatles. Unauthorized reproduction or distribution of this AIA[®] Document, or any portion of it, may result in severe civil and criminal penalties, and will be prosecuted to the maximum extent possible under the law, Purchasers are permitted to reproduce ten (10) copies of this document when completed. To report copyright violations of AIA Contract Documents, e-mail The American Institute of Architects' legal counsel, copyright@aia.org. AC043070810

Init. 1



Know All Persons By These Presents, that MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., both being corporations of the State of Iowa, d/b/a Merchants National Indemnity Company (in California only) (herein collectively called the "Companies") do hereby make, constitute and appoint, individually,

Alyson Carmichael; Jaclyn Thomas; John Anthony Martinez; Kristi Messel; Krystal L Stravato; Marisol Mojica; William G Griffin

their true and lawful Attorney(s)-in-Fact, to sign its name as surety(ies) and to execute, seal and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

This Power-of-Attorney is granted and is signed and sealed by facsimile under and by authority of the following By-Laws adopted by the Board of Directors of Merchants Bonding Company (Mutual) on April 23, 2011 and amended August 14, 2015 and adopted by the Board of Directors of Merchants National Bonding, Inc., on October 16, 2015.

"The President, Secretary, Treasurer, or any Assistant Treasurer or any Assistant Secretary or any Vice President shall have power and authority to appoint Attorneys-in-Fact, and to authorize them to execute on behalf of the Company, and attach the seal of the Company thereto, bonds and undertakings, recognizances, contracts of indemnity and other writings obligatory in the nature thereof."

"The signature of any authorized officer and the seal of the Company may be affixed by facsimile or electronic transmission to any Power of Attorney or Certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligations of the Company, and such signature and seal when so used shall have the same force and effect as though manually fixed."

In connection with obligations in favor of the Florida Department of Transportation only, it is agreed that the power and aut hority hereby given to the Attorney-in-Fact includes any and all consents for the release of retained percentages and/or final estimates on engineering and construction contracts required by the State of Florida Department of Transportation. It is fully understood that consenting to the State of Florida Department of Transportation making payment of the final estimate to the Contractor and/or its assignee, shall not relieve this surety company of any of its obligations under its bond.

In connection with obligations in favor of the Kentucky Department of Highways only, it is agreed that the power and authority hereby given to the Attorney-in-Fact cannot be modified or revoked unless prior written personal notice of such intent has been given to the Commissioner-Department of Highways of the Commonwealth of Kentucky at least thirty (30) days prior to the modification or revocation. In Witness Whereof, the Companies have caused this instrument to be signed and sealed this 5th day of February .2024 .



STATE OF IOWA COUNTY OF DALLAS ss.

4

On this 5th day of February 2024, before me appeared Larry Taylor, to me personally known, who being by me duly sworn did say that he is President of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC.; and that the seals affixed to the foregoing instrument are the Corporate Seals of the Companies; and that the said instrument was signed and sealed in behalf of the Companies by authority of their respective Boards of Directors.





(Expiration of notary's commission does not invalidate this instrument)

I, William Warner, Jr., Secretary of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., do hereby certify that the above and foregoing is a true and correct copy of the POWER-OF-ATTORNEY executed by said Companies, which is still in full force and effect and has not been amended or revoked.

In Witness Whereof, I have hereunto set my hand and affixed the seal of the Companies on this 26th day of June

William Marner J.

, 2025 .



Secretary

POA 0018 (1/24)

EXPECT MORE FROM YOUR BROKER



June 26, 2025

The City of Sanibel 800 Dunlop Road Sanibel, FL 33957

RE: Southern Striping Solutions, LLC Project: Periwinkle Way Milling & Resurfacing

To Whom It May Concern:

Southern Striping Solutions, LLC is a highly regarded and valued client of American Global and Merchants Bonding Company (Mutual). Merchants Bonding Company (Mutual) is rated by AM Best as A, Class IX, and is listed in the Department of the Treasury's Listing of Approved Sureties (Department Circular 570).

Southern Striping Solutions, LLC is more than capable of obtaining any necessary 100% Performance and Payment Bonds with regard to the captioned project however, it must be understood that our ability to provide any surety credit is based upon normal and standard underwriting criteria at the time of their request. This would include, but not be limited to, a review of the contract documents, and appropriate construction funding, if applicable.

This letter is not an assumption of liability or a commitment to issue bonds. It is solely a contractor prequalification letter for Southern Striping Solutions, LLC which is being furnished to you at the request of Southern Striping Solutions, LLC. Any arrangement for bonds is strictly a matter between Southern Striping Solutions, LLC and Merchants Bonding Company (Mutual).

If we can provide any further assurances or assistance, please do not hesitate to call upon us.

Sincerely William G. Griffin Attorney In Fact



Know All Persons By These Presents, that MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., both being corporations of the State of Iowa, d/b/a Merchants National Indemnity Company (in California only) (herein collectively called the "Companies") do hereby make, constitute and appoint, individually,

Alyson Carmichael; Jaclyn Thomas; John Anthony Martinez; Kristi Messel; Krystal L Stravato; Marisol Mojica; William G Griffin

their true and lawful Attorney(s)-in-Fact, to sign its name as surety(ies) and to execute, seal and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

This Power-of-Attorney is granted and is signed and sealed by facsimile under and by authority of the following By-Laws adopted by the Board of Directors of Merchants Bonding Company (Mutual) on April 23, 2011 and amended August 14, 2015 and adopted by the Board of Directors of Merchants National Bonding, Inc., on October 16, 2015.

"The President, Secretary, Treasurer, or any Assistant Treasurer or any Assistant Secretary or any Vice President shall have power and authority to appoint Attorneys-in-Fact, and to authorize them to execute on behalf of the Company, and attach the seal of the Company thereto, bonds and undertakings, recognizances, contracts of indemnity and other writings obligatory in the nature thereof."

"The signature of any authorized officer and the seal of the Company may be affixed by facsimile or electronic transmission to any Power of Attorney or Certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligations of the Company, and such signature and seal when so used shall have the same force and effect as though manually fixed."

In connection with obligations in favor of the Florida Department of Transportation only, it is agreed that the power and aut hority hereby given to the Attorney-in-Fact includes any and all consents for the release of retained percentages and/or final estimates on engineering and construction contracts required by the State of Florida Department of Transportation. It is fully understood that consenting to the State of Florida Department of Transportation and/or its assignee, shall not relieve this surety company of any of its obligations under its bond.

In connection with obligations in favor of the Kentucky Department of Highways only, it is agreed that the power and authority hereby given to the Attorney-in-Fact cannot be modified or revoked unless prior written personal notice of such intent has been given to the Commissioner-Department of Highways of the Commonwealth of Kentucky at least thirty (30) days prior to the modification or revocation. In Witness Whereof, the Companies have caused this instrument to be signed and sealed this 5th day of February , 2024





MERCHANTS BONDING COMPANY (MUTUAL)

STATE OF IOWA COUNTY OF DALLAS ss.

On this 5th day of February 2024 , before me appeared Larry Taylor, to me personally known, who being by me duly swom did say that he is President of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC.; and that the seals affixed to the foregoing instrument are the Corporate Seals of the Companies; and that the said instrument was signed and sealed in behalf of the Companies by authority of their respective Boards of Directors.





(Expiration of notary's commission does not invalidate this instrument)

I, William Warner, Jr., Secretary of MERCHANTS BONDING COMPANY (MUTUAL) and MERCHANTS NATIONAL BONDING, INC., do hereby cartify that the above and foregoing is a true and correct copy of the POWER-OF-ATTORNEY executed by said Companies, which is still in full force and effect and has not been amended or revoked.

In Witness Whereof, I have hereunto set my hand and affixed the seal of the Companies on this 26th day of June , 2025 .



Southern Striping Solutions, LLC Sample Project Listing June 20, 2025

The Following projects are listed to illustrate the abilities and experience of Southern Striping Solutions, LLC in relation to the project being bid. This list does not include all projects successfully completed. Contact for all projects: Alex DeMarco – Director of Operations, Phone: <u>239-591-5903</u> Email: <u>alex@collierpave.com</u>

City of Arcadia Sanitary Collection Ph 2A and Water Main Ph 1A

Total: \$1,700,644.65 Completed: 4/2024 Andrew Sitework Chad Baker 239-226-1606 chad@andrewsitework.com

Stoneybrooke Road and Sidewalk

Total: \$1,486,715.07 Completed: 11/2024 Wrathell, Hunt, & Associates Chuck Adams 239-464-7114 adamsc@whhassociates.com

Grey Oaks POA 2024 Paving Project

Total: \$491,231.75 Completed: 11/2024 Wrathell, Hunt, & Associates Chuck Adams 239-464-7114 adamsc@whhassociates.com

2024 MSBU Paving Program Charlotte County

Total: \$1,514,353.10 Completed: 5/2025 Preferred Materials Michael Drew 813-758-4252 <u>michael.drew@preferredmaterials.com</u>

Herons Glen Clubhouse Mill and Resurface

Total: \$293,372.52 Completed: IN PROGRESS BOWMAN Christopher Ingram 239-254-2000 jbaker@bowman.com

